

## **Bid Compliance Summary**

Bid Number: 25-039 Project Title: 2025 Sidewalk Replacement Program - Part 2

Bid Issue: 6/13/2025 Department: **Public Works** 

Bid Opening: 6/27/2025 Addenda: N/A

BIDDER	PROPOSAL PRICE	CONTACT INFORMATION
Davis Concrete Construction Co.	SEE SCHEDULE OF PRICES	Christopher P. Davis 11244 Manhattan-Monee Rd Monee, IL 60449 708-388-1100 Email: chazdavis@davisconcrete.com
Strada Construction Co.	SEE SCHEDULE OF PRICES	Antonio Dipaloa 1742 W. Armitage Ct Addison, IL 60101 P: 630-627-3800 Email: stradaconstco@aol.com
Gallagher Asphalt Corporation	SEE SCHEDULE OF PRICES	Jonathan Gallagher 18100 South Indiana Avenue Thornton, IL 60476 P: 708-957-3899 Email: jkolmodin@gallagherasphalt.com
J&J Newell Concrete Contractors	SEE SCHEDULE OF PRICES	Victoria Newell 25350 S State St Crete, IL 60417 P:708-862-1909 Email: sue@jjnewellconcrete.com

Proposals are subject to review for completeness, accuracy, and compliance with all terms and conditions of the bid specifications

Prepared by: Brandi Watson, Management Analyst - Village of Orland Park

# Village of Orland Park Bid Responsiveness Check

Bid Number: 25-039 Project Title: 2025 Sidewalk Replacement Program - Part 2

Bid Requirements	Davis Concrete Construction Co.	Strada Construction Co.	Gallagher Asphalt Corporation	J&J Newell Concrete Contractors	
Submitted Local Public Agency Formal Contract Proposal	IDOT Compliance	IDOT Compliance	IDOT Compliance	IDOT Compliance	
Submitted a completed Schedule of Prices	IDOT Compliance	IDOT Compliance	IDOT Compliance	IDOT Compliance	
Submitted a completed Apprenticeship or Training Program					
Certification	IDOT Compliance	IDOT Compliance	IDOT Compliance	IDOT Compliance	
Submitted Affidavit of Illinois Business Office	IDOT Compliance	IDOT Compliance	IDOT Compliance	IDOT Compliance	
Submitted Proposal Bid Bond	IDOT Compliance	V1	IDOT Compliance	V2	
	SEE SCHEDULE OF	SEE SCHEDULE OF	SEE SCHEDULE OF		
GRAND TOTAL BID PRICE	PRICES	PRICES	PRICES	SEE SCHEDULE OF PRICES	

<sup>\*</sup>A check mark in the box indicates inclusion of the required form with the proposal package.

- V1 Bidder did not complete the Proposal Bid Bond Form but did submit an Original Bid Bond.
- V2 Bidder did not complete the Proposal Bid Bond Form but did submit an Original Bid Bond.

Prepared by: Brandi Watson, Management Analyst - Village of Orland Park

A "V#" indicates a variance that will be explained below.



#### Schedule of Prices



Contractor's Name		_	
Davis Concrete Cons	truction Co.		
Contractor's Address		City	State Zip Code
1/244 W. Manhattan-	Money Rd	Morie	)L 60449
Local Public Agency		County	Section Number
Village of Orland Park		Cook	25-00097-00-SW
Route(s) (Street/Road Name)			
Various			
	Schedule fo	or Multiple Bids	
Combination Letter	Section Incl	uded in Combinations	Total
<del></del>			

Item Number	Items	Unit	Quantity	Unit Price	Total
1	PCC Sidewalk (5") Removal	SQ FT	49,844	\$ 13.48	\$671,897.12
A	and Replacement				
2	PCC Sidewalk (8") - High Early	SQ FT	400	\$ 14.48	\$5,792.00
	Strength - Removal and				
	Replacement				
			Bio	dder's Total Proposa	1 \$ 677,689,12

Schedule for Single Bid

- 1. Each pay item should have a unit price and a total price.
- 2. If no total price is shown or if there is a discrepancy between the product of the unit price multiplied by the quantity, the unit price shall govern.
- 3. If a unit price is omitted, the total price will be divided by the quantity in order to establish a unit price.
- 4. A bid may be declared unacceptable if neither a unit price or total price is shown.

. --



## **Schedule of Prices**



Contractor's Name			
STRADA CONSTR	UCTION CO		
Contractor's Address		City	State Zip Code
1742 W. ARKITA	AGE CT	ADD150~	(L 60)01
Local Public Agency		County	Section Number
Village of Orland Park		Cook	25-00097-00-SW
Route(s) (Street/Road Name)			
Various			
	Schedule for	Multiple Bids	
Combination Letter	Section Inclu	ded in Combinations	Total

Schedule for Single Bid

Item Number	Items	Unit	Quantity	Unit Price	Total
1	PCC Sidewalk (5") Removal	SQ FT	49,844	10.98	547, 287.12
	and Replacement				
2	PCC Sidewalk (8") - High Early	SQ FT	400	10.98	4392
	Strength - Removal and				
	Replacement				
			BI	dder's Total Proposa	\$ 557.679.12

- 1. Each pay item should have a unit price and a total price.
- 2. If no total price is shown or if there is a discrepancy between the product of the unit price multiplied by the quantity, the unit price shall govern.
- 3. If a unit price is omitted, the total price will be divided by the quantity in order to establish a unit price.
- 4. A bid may be declared unacceptable if neither a unit price or total price is shown.



#### **Schedule of Prices**



Contractor's Name			
Gallagher Asphalt Corporation			
Contractor's Address	City	State Zip Code	
18100 South Indiana Avenue	Thornton	IL 60476	
Local Public Agency	County	Section Number	
Village of Orland Park	Cook	25-00097-00-SW	
Route(s) (Street/Road Name)			
Various			
	Schedule for Multiple Bids		
Combination Letter	Section Included in Combinations	Total	
<u> </u>	Schedule for Single Bid		

Item Number	Items	Unit	Quantity	Unit Price	Total
1	PCC Sidewalk (5") Removal	SQ FT	49,844	14.05	700,308-20
	and Replacement				
2	PCC Sidewalk (8") - High Early	SQ FT	400	30.00	12,000.00
	Strength - Removal and				
	Replacement				
~			Bi	dder's Total Proposa	712,308,20

- 1. Each pay item should have a unit price and a total price.
- 2. If no total price is shown or if there is a discrepancy between the product of the unit price multiplied by the quantity, the unit price shall govern.

- 3. If a unit price is omitted, the total price will be divided by the quantity in order to establish a unit price.
- 4. A bid may be declared unacceptable if neither a unit price or total price is shown.

40-12 yes



2

## **Schedule of Prices**



CONTRACTOR S IVANIE				_		
SITN	evere lo	VLIGRE Corra	ACTORS W	lc		
Contractor's Address	<u>s</u>		Cit			State Zip Code
25350 5	5. STATES	5+		CHETE		in 60417
Local Public Agency				Cı	ounty	Section Number
Village of Orland	Park			c	ook	25-00097-00-SW
Route(s) (Street/Roa	ad Name)					
Various						
		Sche	edule for Mu	iltiple Bids		
Combinatio	on Letter		tion Included		ations	Total
			<del></del>			
				<del></del>	· · · · · · · · · · · · · · · · · · ·	<del> </del>
					<u> </u>	<u> </u>
	(For cor		hedule for S /ering these i		lans and specifications	; <b>.)</b>
Item Number		tems	Unit	Quantity	Unit Price	Total
1	PCC Sidewalk	(5") Removal	SQ FT	49,844	12.20	608,096.80
į	and Replacem	ent			1	

1. Each pay item should have a unit price and a total price.

Strength - Removal and

Replacement

PCC Sidewalk (8") - High Early

2. If no total price is shown or if there is a discrepancy between the product of the unit price multiplied by the quantity, the unit price shall govern.

SQ FT

400

.. 🚓

13,75

Bidder's Total Proposal

5500.00

596.80

- 3. If a unit price is omitted, the total price will be divided by the quantity in order to establish a unit price.
- 4. A bid may be declared unacceptable if neither a unit price or total price is shown.